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QUESTION 1

How does your FortiWeb configuration differ if the Fortiweb is upstream of the SNAT device instead of downstream of
the SNAT device?

A. You must enable the "Use" X-Forwarded-For: option.

B. Fortiweb must be set for Transparent Mode

C. No special configuration required

D. You must enable "Add" X-Forwarded-For: instead of the "Use" X-Forwarded-For: option.

Correct Answer: A

QUESTION 2

You are deploying FortiWeb 6.0 in an Amazon Web Services cloud. Which 2 lines of this initial setup via CLI are
incorrect? (Choose two.)

config system settings
set opmode transparsnt
set gateway 10.0.0.1
end

config system interface

=2 S Y L = T

set portl

=]

sat ip 10.0.0.5
8 set allowaccess https ssh ping

9 end

Correct Answer: AC

QUESTION 3

Latest NSE6_FWB-6.1 Dumps | NSE6_FWB-6.1 Study Guide | NSE6_FWB-6.1 Braindumps 2/3


https://www.geekcert.com/nse6_fwb-6-1.html
https://www.geekcert.com/nse6_fwb-6-1.html
https://www.geekcert.com/nse6_fwb-6-1.html

VCE & PDF https://lwww.geekcert.com/nse6_fwb-6-1.html
2024 Latest geekcert NSE6_FWB-6.1 PDF and VCE dumps Download

GeekCert.com

Which of the following would be a reason for implementing rewrites?
A. Page has been moved to a new URL

B. Page has been moved to a new IP address

C. Replace vulnerable functions.

D. Send connection to secure channel

Correct Answer: A

QUESTION 4

When integrating FortiWeb and FortiAnalyzer, why is the selection for Fortiweb Version critical? (Choose two)
A. Defines Log file format

B. Defines communication protocol

C. Defines Database Schema

D. Defines Log storage location

Correct Answer: AD

QUESTION 5

Under which circumstances does FortiWeb use its own certificates? (Choose Two)
A. Secondary HTTPS connection to server where FortiWeb acts as a client

B. HTTPS to clients

C. HTTPS access to GUI

D. HTTPS to FortiGate

Correct Answer: AC
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